
Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

� LED48230 Issue 1  11/10/18Page 1 of 2

Parts Information:
Site Light with 2 x 13A Sockets 48W SMD LED 230V
Model No: LED48230



� LED48230 Issue 1  11/10/18

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR
01284 757500 01284 703534 sales@sealey.co.uk www.sealey.co.uk

Page 2 of 2

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product. 
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim. 

Parts Information:
Site Light with 2 x 13A Sockets 48W SMD 
LED 230V
Model No: LED48230

Item Part No. Description

1 W-2010862 Front Casing 

2 W-2050096 Reflector (A) 

3 W-2050097 Reflector (B)

4 W-2050098 Reflector (C 

5 W-2050099 Reflector (D) 

6 DAS149.05 Rd head s/t screw m3x8 

7 W-8020311 LED Board

8 W-8020310 Switch Board 

9 W-8020312 Driver Board 

10 W-2010731 Switch Cover Holder 

11 W-2010863 Switch Button 

12 W-2050051 Sealing Gasket

13 W-2010741 Corner Proctector (A - for 48W Range)

14 W-2010861 Back Casing

15 W-2010742 Corner Proctector (B - for 48W Range)

16 START560.07 Rd Head S/T Screw M3x16 

17 W-2010744 Handle Cover 

Item Part No. Description

18 W-2010743 Handle (for Back Cover) 

19 W-2060108 Socket

20 W-2020012 Screw (3.5x12) 

21 W-2060135 Plate for Socket 

22 W-2020361 Fixing Screw M6x40 

23 W-2030130 O-Ring 

25 W-2060074 Cable Gland 

26 W-2010728 Corner Proctector (C - for 48W Range)

27 SN6.S Steel Nut M6 Zinc Din934 (Single) 

28 FWM6.S Flat Washer M6 Single 

29 W-2010727 Corner Proctector (D - for 48W Range) 

30 MSP655.S Machine Screw Pan Head Phillips M6x55mm 
(Single)

31 W-2030041 O-Ring 

32 W-2010745 Bracket

33 W-2020355 Centre Spring for Bracket


